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Introduction

1. All versions, PDF, Google Slides, and PPD share the same contents.

However, there are slight wording changes to accommodate each version.

2. This product covers Common Core Standard 2.MD.5 in Measurement
and Data.

3. There are 7 student work pages and 7 answer pages. Student work pages

are provided in both ink and color while answer pages are only available in
color.

Page 5-11: Student Work Sheets in Ink
Page 12-18: Student Work Sheets in Color
Page 19-25: Answer Sheets in Color
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ped 24 feet high
adult whale jumped 46

The tiger ran 83 meters till it caught that
horse. How many meters did the horse run

Answer Sheet
(May Vary)

four sides of the square?

n. The turtle has crawled 47 inches.

any inches will it need to crawl so he

to the ocean?

12 + 5 = 17
17 -2 =15

yards
label

Answer Sheet
(May Vary)

Directions: So

s one is 3 cm shorter than Tim’s. What
gth of Logan’s ice cream?

narrower t 'FW

differencé the widest and the

A: 15
B: 15 + 6 = 21

36 + 15 + 17

meters
label
The school library’s hight is 16 yards.
Its length is 12 yards longer than its height.
Its width is 9 yards shorter than its length.
What is the width of the library?

tall. Jar B
m taller
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Directions: Solve each word problem by

rag and drop a

o She dnkmeu i the Sqiation]

() Abigairs rabbit hopped for 58 feet.
Emily’s rabbit hopped for 34 feet.
s the total distance the two rabbits

(& 1n 2100 meter race, Lucus has run
63 meters. How many more meters
he have to run?

(@ Noah swam 67 feet.
James swam 25 feet more.
How many feet did James swim?

&D?

Equation:

Tobel

G2 columbus flags!

meters long. Her sister ships, Nina |
meters and Pinta is 17 mete:
Combined length of ll the three sh

On a whale watching trip, Tony saw a

than the narwhal. What is the length of the
hammerhead?

The schoo! orary's hight s 16 yards,

Its length is 12 yards longer than its height.
Its width is 9 yards shorter than its length.

What is the width of the library?
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Measurement
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on the unknoun fa

1) A baby whale jumped 24 feet
il w2
h about water. How
dult whale jump than the baby?
>

Equation: =

many more feet

A female girafe h

rei

Directions: Solve each word probl.

igail’s rabbit hopped for 58 feet.
Emllysrabb ped for 34 feet.

What is the total distance the two rabbits
covered?

B oo 58 + 34 =[52]

-“‘ IE] fezf

(&) 1n 2100 meter race, Lucus has run
63 meters. How many more meters will
he have to run?

Equation:

meters
Taber

100 - 63

@ Evetys table 1 36 inches long.
Jazob's table Tength 1o 1 Inches sherter.
Viow longis Jecop's tabler

feet

g Fauato
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Equation:

19 yards

Tabel

e on et Measurement

Logan’s one is 3 cm shor
the length of Logan's i&

/atermelon Slice A is 2 cm wider than

combined width of all the slices?

Asc:9+2=11
11+ 9+ 11= 31

I's Christmas stocking is 24 cm long.
Carol's Christmas stockin 1s 6 cm longer.
What is the total length of both stockin

9 the blanks.

e gt of 2 ectangle s 61 fest,

The width is 27 feet shorter. What is the
width of the rectangle?

The total length of a triangle is 78 yards.
The triangle has two sides that are the same
fength. One of the equal side:

fong. What is the length of the side t

s not equal?
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Soive Sach, word probiem by f

Drag and drop

ing the blanks.
e th tiasimoon Ta i

drew a tank which wa:

eters in length and 13 cemvme(ers
in width. How many more centimetes
the tank’s length than its width?

@ American flag s 2

e to march 10 be at the iag pole?
L=

Equation:
2
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A baby whale jumped 24 feet high
above water. An adult whale jumped 46

2 A le girafe height can be 1t het.
Rt grafte gt conbe 4 fect more.
ra

feet high about water. How many more feet | How tall can a male

did the adult whale jump than the baby?

F oo 46 - 24 =[22]

€ [22] _ feer

T —

(3 A tiger spotted a horse 37 meters ahes
The tigerran 83 meters tll i caugy

horse. How many meters

for s life betore 1t

Measurement
Directions: Solve each word problem by filling tho blanks.

| piana’s home ce g 56 biches g

The Christmas tree ches tall. If Diana

st 46 Bk 3 Sar of s nches (ol o the (0

of the tree, how many inchesare there
g and the star?

Laura used 26 cm of her ribbon to tie

ribbon to tie her

was the total length of her ribbon in cm did
she u:

tﬁfﬁ

of candy canie wil Santa nead to buy?
15 + 30 = 45

Equation:

Answer Shee
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meters
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Nicol’s Christmas stocking is 24 cm long.
Carol's Cheistrnms stocking is 8 cm longer.
What is the total length of both stockings?

length. One of the equal s
fong. What is the length of the side that
s not equal?

e length of a rectangle is 61 feet.
The width is 27 feet shorter. What is the
width of the rectangle?

@ One side of 2 wriangle s 12 feet, 13

second side is 5 feet longer. Its third side is
2 feet shorter than the second side. What is
the length of the third side?

12 +5=17

17 -2=15

Equatior

15 yards

Tabel

By filling the blanks.
in the equation.

(2 American flag is a rectangle. The longer
side is 5 feet long and the shorter

3
feet long. What s the combined length of

all four sides?

(3 The height of this Statu

is 57 meters. What is the height of
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[3) Loura used 26 cm of her ribbon to tie
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of the tree,
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il

(44) Columbus flagship Santa Maria is 36
meters long. Her sister ships, Nino i 15
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combined length of i the hree ships?

37) The tength of one sid
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four sides of the square?
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boat ice cream. Ethan's one is 24 cm long.
Tim's one is 6 cm shorter than Ethan's.
Logan's one is 3 cm shorter than Tim's. What
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(7 Noah swam 67 fect.
James swam 25 feet more.

table s 36 inches lony
J:(abs(-\hlc lnng(lﬂslﬂ ches shorter.

G5 Tony sawa

Sluewhale of 33 metrslong, s narahat |1 engehle . yardslonger than

, [1es width,

than the narwhal, What i the length of the
hammerhead:

(G A baby whate jumped 24 fect high

water. jumped a6
feet high about water. How many more feet
did the adult whale jump than the baby?
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How many feet did James swi
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2 fect shorter than the second side. Whatis
the length of the third side?
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Santa Maria is 36
<hips, Nina i 15

What s the total width of b 3 ters. What's the
 three ships?

theis 16 yards.
yards longer than its height.
9 yards shorter than ts length.

What is the width of the ibrary?
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2R female girafe height can be 13 feet.

(@ Avigair's rabbit hopped for 58 feet. ¢ race, Lucus has run

above wi Jumped 46

Fermelon Stice A fs 2 cm wider th:
lce B. Slice 815 9 cm wide. Slice C's width

“Answer Sheet
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¢ her ribbon
i3 cm of her
ribbon to tie her gift for her brother. What

75 + 12

she use? 26 + 54 + 13
93

)

|G santa workshop needs so feet of
i Santa

|G e sehool ibrary's hight s 16 yaras

already has 1 candy cane of 15 fect and
scandy cane o 30 fest. How many fest
iy cane will Santa need to buy?
i

30 = 4
% ‘ a

D

length. One of the equal sides is 31 yards
long. What is the length of the side that
s not equal?

What
four sides of the square?

6+6+6+6
tquation = 24 meters
24|  meters
D

- Whatis the

its width is 5 yards

(23] _

61 - 27 =

did the adult whale jump than the baby?

F‘ coumion. 46 = 24 =[22]
22

feet

14 + 4 - [18]

@ atiger
The tiger ran 83 meters il it caught that

et. any more meters wil
What s the total distance the two rabl
erea
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ies drew a tank which was 21
centimeters in length and 13 centimeters
in width, How many more centimeters is
the tanis length thy b

e need to march to be at the flag pole?

33 -[3)= 52
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